HRX1) FHETMHEZESETHEERFERERERE #HP (A—ILEIIFAX 639—0613)
TRIMGHRERLHRR
Fh4 EEENER
X 8 103I5E (8 A IXRIFEZL) (BAGL: psv./ )
B FE BALABEZI FHIOEF00% HER
4/5 1@ B 2EE 3EH 4[MEH 5EH 1
(R) 0.058 0.063 0.056 0.055 0.042 0.055
B E B BT FRTOEF00% (5;(6)
5/6 1[EH 2EH 3EH 4[EH 5EH E
(X) 0.049 0.065 0.062 0.063 0.068 0.061
B BSA B % THIOKF00% HMEHR
6/1 1B H 2@ H 3[EH 41 H 5[EH E
(K) 0.052 0.057 0.063 0.049 0.055 0.055
I 7E BB B % FRIOFF00S (77;1)
7/1 1EH 2EEH 3EAH 4EEH 5EH SE
(X) 0.061 0.005 0.056 0.059 0.069 0.050
B TE BASR RS %I FHIOKF00% wER
9/1 1\ H 2[0H 3[EH 4 H 5EHH E
(%K) 0.064 0.084 0.059 0.068 0.053 0.066
I 7E BB B % FRIOFF00S 1(%;
1%1 1EH 2EEH 3EH 4EEF 5EH SE
(s2) 0.06 0.064 0.065 0.069 0.063 0.064
B E B A E FHIOKF00% #wER
11/1 1| g 2@ E 3EE 4[EH 5@ H b3 5]
(R) 0.055 0.058 0.061 0.061 0.052 0.057
B BSA B Z FRTOEF00% 1(36
12/1 1E1H 2@ H 3[EH 4B H 5EH )
(%K) 0.056 0.058 0.060 0.052 0.053 0.056
3B E BAsA B ZI FRHIOKF00% #wER
1/11 1\ H 2[0H 3[EH 4[E H 5[EH E1y
()
0.057 0.063 0.057 0.055 0.044 0.055
Al E BABABS ZI FRIOFFO0 S (2 £)
(2£) 1EE 2[EH 3EH 4 H 5E H E
0.058 0.058 0.058 0.052 0.054 0.056
3B E B BA B ZI FRHIOKF00% #wER
(3£) 1EH 20 H 3EE 4AEH 5EE 5 3/1
0.068 0.061 0.068 0.067 0.053 0.063 ()




